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(1) BEHE (BLFhY)
F E — =
SRR | OEE | HEIRE | SmmaE | FR0EE
& 48 GEC] GE:]
(%) (%)
5 | K FE 40445 102.9 106.9 3,929.1 3,781.8
% % | BE FR - - - - -
5 |EER 75.4 87.8 89.2 85.9 84.5
.| B LK FE 154.0 105.9 105.3 1455 146.2
X5 B FE 0.0 63.8 74.3 0.0 0.0
Ei 42739 102.7 106.5 4,160.5 40125
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5 | K F& 40445 3,632.6 411.9 90.1%
?Z %) B;;Et *ﬁ - - - -
5 B & A 75.4 58.3 17.1 80.0%
w | B LK FE 154.0 114.2 39.8 91.9%
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2 BENRERE
(BfI: k)

2 Al B F |KFEISERK|KTIE R K| EE R X K |ERIIERK|EREL XX
t & & 492,439 447,330 42,402 2,707 - -
HILEBE 1,422,160 1,366,860 41,871 13,430 - -
7 & 208,803 206,554 836 1,413 - -
5 F 157,243 146,344 9,767 1,131 - -
.1 211,188 205,884 4,353 951 - -
M H 349,159 327,625 16,991 4543 - -
W 249,883 239,260 7,269 3,354 - -
= B 245,884 241,193 2,654 2,036 - -
MAREEBE 768,591 749,563 10,854 8,161 - 14
*x W 199,055 197,677 950 420 - 8
wm K 190,558 188,461 535 1,558 - 4
B R 24,600 24,448 64 88 - -
B E 49,532 49,310 79 144 - -
F OE 185,397 177,710 7,534 152 - 2
B = 48 38 - 10 - -
wm o= 3,197 3,037 26 134 - 0
w3 5,593 5,080 130 382 - -
£ % 87,443 81,554 1,094 4,794 - -
% @ 23,170 22,247 443 480 - -
TLEEHRE 742,442 693,310 32,397 16,735 - -
woR 454,333 419,602 24,872 9,858 - -
E W 131,512 123,704 3,835 3,973 - -
g n 81,889 78,720 2,357 811 - -
B H 74,709 71,284 1,332 2,092 - -
HBERBE 137,297 133,650 1,985 1,661 - -
g B 30,335 28,332 1,242 762 - -
Z 47,248 46,408 449 391 - -
= = 59,713 58,910 294 509 - -
EREBB 180,488 157,398 2,966 20,125 - -
# = 82,386 78,775 2,179 1,431 - -
m AR 21,910 21,072 168 670 - -
X & 3,183 3,143 11 29 - -
'k E 60,008 41,747 560 17,700 - -
= B 10,461 10,177 38 246 - -
M I W 2,541 2,483 10 48 - -
FEREEBG 271,031 255,770 4414 10,847 - -
B mW 24,667 23915 376 376 - -
5 1B 38,044 36,335 1,050 659 - -
@ W 61,944 57,308 949 3,687 - -
L B 50,247 45,635 1,082 3,531 - -
w o 26,218 24,108 461 1,649 - -
&t 5 24,299 23,762 90 447 - -
F N 11,526 11,375 123 28 - -
T OB 15,178 14,926 134 119 - -
s 18,908 18,409 149 350 - -
NI B BE 258,138 239,302 17,103 1,733 - -
B | 48,615 47,434 581 600 - -
B = 44,199 33,359 10,344 496 - -
E & 9,167 9,064 43 60 - -
B K 62,909 56,744 5,742 423 - -
x % 21,377 21,062 191 125 - -
0 37,132 37,079 25 27 - -
B R B 34,740 34,560 177 3 - -
i 2 1,293 1,293 - - - -
& Hi 4,273,881 4,044,475 153,993 75,399 - 14
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3 FRANREME

(D) _JKIEIDEIRK (BEfr: b %)
2 g _*ﬁ = o = F ® ke E3
- #®w &t 1 % 2 = 3 £ |Eeal1 %2 % |3 % [HEEs
d & & 447,330] 417,103 14,956 576] 14,695 93.2 3.3 0.1 3.3
HIEEE 1,366,860 [ 1,258,006 94,143 8,197 6,514 92.0 6.9 0.6 05
' &K 206,554| 193,200 11,166 1,589 598 935 5.4 0.8 0.3
A F 146,344| 137,972 7,671 479 222 94.3 5.2 0.3 0.2
T W 205,884| 186,305 17,452 1,435 692 90.5 8.5 0.7 0.3
¥ H 327,625 299,556 22,493 2,028 3,548 91.4 6.9 0.6 1.1
(T 239,260 226,138 11,369 730 1,023 94.5 4.8 0.3 0.4
E B 241,193| 214,836 23,992 1,935 431 89.1 9.9 0.8 0.2
BEREENE 749,563| 636,377 92,118 17,470 3,598 84.9 12.3 2.3 05
x W 197,677 160,408| 30,543 5,629 1,096 81.1 15.5 2.8 0.6
i N 188,461| 172,655 13,941 1,336 530 91.6 74 0.7 0.3
#E 24,448 19,933 4,118 396 2 81.5 16.8 16 0.0
% E 49,310 22,815 17,699 7,339 1,457 46.3 35.9 14.9 3.0
F E 177,710 161,526 14,636 1,271 277 90.9 8.2 0.7 0.2
B R 38 - 12 25 1 - 315 65.7 2.8
wE 3,037 905 2,083 47 2 29.8 68.6 1.6 0.1
[TTR.-} 5,080 3,948 1,011 119 3 71.7 19.9 23 0.1
£ ¥ 81,554 76,864 4,100 533 57 94.2 5.0 0.7 0.1
% [ 22,247 17,324 3,974 775 173 77.9 17.9 35 0.8
LRER B 693,310| 545084 133,015 9,597 5,614 78.6 19.2 14 0.8
R 419,602| 305,596 105,487 6,323 2,197 72.8 25.1 15 0.5
E W 123,704 110,527 11,641 1,136 401 89.3 9.4 0.9 0.3
a 78,720 68515 8,624 1,008 573 87.0 11.0 1.3 0.7
B H# 71,284| 60,446 7,264 1,130 2,443 84.8 10.2 1.6 3.4
HEERE 133,650 60,071 64,626 7,565 1,388 449 48.4 5.7 10
g B 28,332 12,312 13,625 1,395 1,001 435 48.1 4.9 3.5
T Al 46,408 24,687 18,763 2,772 187 53.2 404 6.0 0.4
= B 58,910 23073| 32,238 3,399 200 39.2 54.7 5.8 0.3
ik 33 d ) 157,398| 95625| 52,855 7,886 1,032 60.8 33.6 5.0 0.7
F A 78,775 55,081 21,356 1,955 383 69.9 27.1 2.5 0.5
WO 21,072 12,983 6,241 1,545 302 61.6 29.6 7.3 1.4
X B’ 3,143 1,207 1,331 557 47 38.4 424 17.7 15
E E 41,747 18,088 20,5512 2,978 169 43.3 49.1 7.1 0.4
= B 10,177 7,625 2,082 399 71 74.9 205 3.9 0.7
M ;W 2,483 641 1,332 451 59 25.8 53.7 18.2 24
th = E RS 255,770| 154985 87,953 10,416 2,415 60.6 344 41 0.9
B W 23,915 12,794 10,179 828 114 535 42.6 35 0.5
E B 36,335 24,261 10,810 1,050 213 66.8 29.8 2.9 0.6
@ W 57,308 39,955 15,283 1,751 318 69.7 26.7 3.1 0.6
L B 45635 39,445 5,474 576 140 86.4 12.0 1.3 0.3
(1T 24,108 15,150 6,186 2,103 670 62.8 25.7 8.7 2.8
B 23,762 11,532 10,894 1,086 249 485 458 4.6 1.0
EF 11,375 1,619 9,250 493 14 14.2 81.3 43 0.1
Z 14,926 6,394 7,754 425 352 42.8 52.0 28 24
=5 18,409 3,835 12,123 2,105 346 20.8 65.9 11.4 1.9
bR dd ) 239,302 78961 129,729 23645 6,967 330 54.2 99 29
B A 47,434 4794 36,294 3,822 2,523 10.1 76.5 8.1 5.3
k= =B 33,359 15,043 14,877 1,950 1,488 45.1 44.6 5.8 45
E & 9,064 3,266 5,306 399 92 36.0 58.5 4.4 1.0
N 56,744 17,772 34,419 3,387 1,167 31.3 60.7 6.0 2.1
x 9 21,062 8,976 9,329 2,213 543 42.6 443 10.5 2.6
= 37,079 16,149 12,783 7,497 650 436 345 20.2 1.8
E R B 34,560 12,961 16,721 4,375 503 375 484 12.7 15
B8 1,293 847 356 59 30 65.6 27.6 46 2.3
& 4,044,475| 3.247,061| 669,751 85,411 42,253 80.3 16.6 2.1 1.0
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2) KIELHZA (BA: b, %)

2 g _%ﬁ = o = e ® ke E3
- B E 1 % 2 = 3 % |H#EN]l 1% | 2% |3 %F [HEs
it & & 42,402] 39,887 774 1 1,741 94.1 18 0.0 4.1
HIiEBEE 41,871 17,651 22,995 882 342 422 54.9 2.1 0.8
qF &K 836 82 741 12 2 9.8 88.6 1.4 0.2
A F 9,767 8,392 1,124 187 65 85.9 1.5 1.9 0.7
T W 4,353 812 3,290 239 12 18.7 75.6 55 0.3
# = 16,991 1,228 15,379 188 197 7.2 90.5 1.1 1.2
o 7,269 5,148 1,847 213 61 70.8 25.4 2.9 0.8
E B 2,654 1,989 615 44 7 74.9 23.2 1.7 0.3
EREERNE 10,854 8,289 2,178 291 96 76.4 20.1 2.7 0.9
x W 950 551 319 51 28 58.0 336 54 3.0
L/ N 535 426 95 10 3 79.7 17.8 1.9 0.5
BB 64 10 24 29 1 16.3 37.0 459 0.8
% E 79 20 40 14 5 25.1 50.5 17.7 6.7
F E 7,534 6,176 1,226 107 25 82.0 16.3 1.4 0.3
B =X -
w x= I 26 3 19 2 0 13.2 755 95 1.7
[TTR.-} 130 53 48 4 25 41.0 37.2 28 18.9
E ¥ 1,094 810 236 48 0 74.0 215 44 0.0
B @ 443 239 171 25 8 54.0 385 5.7 1.8
LERBE 32,397 18,713 11,523 1,459 702 57.8 35.6 45 2.2
R 24,872 13,057 10,182 1,235 399 52.5 40.9 5.0 1.6
E W 3,835 2,946 717 135 37 76.8 18.7 35 1.0
a 2,357 1,573 508 64 212 66.7 21.6 2.7 9.0
B H 1,332 1,137 17 25 54 85.3 8.8 1.9 4.0
RaEERE 1,985 799 885 254 47 403 446 128 24
s B 1,242 665 417 134 27 535 335 10.8 2.1
2 M 449 101 264 66 17 22.6 58.9 14.8 3.7
= B 294 33 204 54 3 1.2 69.2 18.4 1.1
RERE 2,966 485 2,126 310 45 16.4 71.7 104 15
OB 2,179 270 1,650 222 37 12.4 75.7 10.2 1.7
WO 168 14 130 21 2 8.4 77.7 12.5 1.4
X & 11 1 6 3 0 8.0 58.6 29.0 4.4
E E 560 200 308 49 4 35.7 54.9 8.8 0.6
= B 38 - 29 8 1 - 77.1 20.4 2.5
M ;W 10 - 3 7 1 - 28.3 65.2 6.5
th = E 2 S 4414 1,496 2,346 496 76 33.9 53.1 112 1.7
B W 376 222 17 35 2 59.1 31.1 9.4 0.4
E B 1,050 492 415 131 11 46.9 395 12.5 1.1
@ W 949 26 828 85 10 2.8 87.3 8.9 1.1
L B 1,082 423 502 138 18 39.1 46.4 12.8 1.7
(1T 461 272 155 31 3 59.0 33.6 6.7 0.7
B 90 16 62 10 3 17.4 69.0 10.7 2.9
EF 123 24 86 11 2 19.5 70.0 9.0 15
Z IF 134 6 84 19 25 48 62.4 14.0 18.7
= A 149 15 98 36 1 9.8 65.3 241 0.8
AMBBE 17,103 1,041 13,611 1,989 462 6.1 79.6 11.6 2.7
B @A 581 3 486 76 16 0.5 83.7 13.2 2.7
k= = 10,344 743 7,822 1,444 335 7.2 75.6 14.0 3.2
E & 43 1 38 4 1 1.7 875 9.6 1.2
N 5,742 265 5,056 338 83 4.6 88.0 5.9 1.4
x 9 191 2 128 45 16 0.8 67.3 235 8.4
T G 25 0 3 13 9 0.8 11.8 50.1 37.3
R B 177 28 77 69 2 16.1 43.7 39.0 1.3
B8 -
& 153,993| 88,363| 56,438 5,683 3,509 57.4 36.6 3.7 23
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2 g _ 3 = # = % & ke E
- BE (L % 1% | 2% Z RS £ £ 2 Z(3 ZH#Ess
I & & 2,707 - 170 2473 37 5 23 -| 63| 913 14| 02| o8
HiiLEBUE 13,430 - 565| 10,747 1,763 287 68 -| 42| s00| 131| 21| 05
F & 1,413 - 85 1,274 54 - - -| 60| 90.2| 38 - -
5= F 1,131 - - 784 288 59 - - -| 69.3] 254| 5.2 -
= B 951 - 4 136 724 88 - -| 04| 143| 761 93 -
@ /A 4,543 - 28| 4,223 208 62 22 -| 06| 930| 46| 14| 05
(1T 3,354 - 434 2,611 188 76 45 -| 129] 778| 56| 23| 14
5 B 2,036 - 14| 1,719 301 2 0 -| 07| 844| 148| 0.1 00
MREEBE 8,161 7 210| 6,536 1,006 296 105 01| 26| 801 123[ 36 1.3
*x W 420 - 13 288 101 14 4 -|" 30| 687 241 33[ 09
m K 1,558 4 154| 1,105 157 46 92 03| 99| 709| 10.1] 29| 59
B E 88 - - 45 31 11 - - -| 515| 358| 127 -
# X 144 - - 41 65 34 3 - -| 286| 454| 239| 22
F E 152 1 - 102 36 8 4 o9 -| 673 23.7| 54| 27
" =R 10 - - - 2 8 - - - -| 21.6| 784 -
W x= I 134 - 0 93 14 26 1 -l 03| 69.3] 10.3| 193] 08
[T 382 1 1 337 29 13 ol 04| 03| 882 77 33| o.1
E % 4,794 - 28| 4,244 453 67 1 -| 06| 885 95| 14| 00
i M@ 480 - 14 281 117 69 - -| 28| 585| 243| 144 -
LEERBS 16,735 - 29| 12,625 3,654 226 201 -| 02| 754| 218 13| 12
¥y B 9,858 - 25| 6,228 3,267 174 164 - 03| 632| 331 18] 1.7
= W 3973 - 4] 3923 41 5 - -l 01| 987| 10| 0.1 -
a N 811 - - 677 109 24 2 - -| 834| 135| 29| 0.2
B H* 2,092 - -l 1,797 237 23 35 - -| 859| 11.3] 11| 1.7
HEERBE 1,661 2 575 784 261 35 5| o.1| 346| 472| 157 21| 03
I B 762 - 366 301 88 5 2 -| 480| 395| 115] 07 02
Z 391 - 8 278 99 4 2 -l 19| 71.1| 254 11| 05
= E 509 2 202 205 74 25 1] 04| 39.7| 403| 145| 50| 0.2
EREBR 20,125 661| 9803| 5487 2014 1093 1068 33| 487| 27.3| 100 54| 53
#oB 1,431 - 60 561 688 60 62 - 42| 39.2| 481 42 43
OB 670 - 4 315 201 17 33 -| 06| 470/ 300| 175 50
X B 29 - - - 5 24 0 - - -| 158| 83.2| 09
E E 17,700 661 9,739 4497| 1,008 823 971l 3.7| 550| 254| 57| 47| 55
= B 246 - - 113 94 38 1 - -| 460| 38.1| 154| 05
0 W 48 - - - 17 30 - - - -| 36.2| 638 -
TEEEE®RE | 10,847 29| 2,613| 4541| 1,703| 1,318 642] 03| 241| 419]| 157 121| 59
5 m 376 - 13 163 142 58 - -|" 36| 43.4| 377 154 -
E IR 659 - 1 228 299 120 11 -| 02| 346| 453 183 1.6
@ W 3,687 - 166| 2,396 279 511 335 -| 45| 650/ 7.6| 138 9.1
L B 3,531 -| 2,043 957 278 80 172 -| 579| 27.1| 79| 23| 49
1T =] 1,649 29 83 647 359 411 120 1.8 50| 39.2| 218 249| 73
B 447 - 307 49 35 54 2 -| 686| 110 7.9 120[ 06
F 28 - - - 21 7 - - - -| 742| 258 -
2 g 119 - - 22 89 8 0 - -| 188| 747| 64| 0.1
= A 350 - - 78 202 69 1 - -| 22.3| 576| 197 04
RN B BUS 1,733 2 30 968 471 152 111] 01| 18| 558 272 87| 64
B M| 600 2 21 355 168 45 ol 03| 35| 592 280 76| 15
Tt = 496 - - 318 95 10 73 - - 641 191 21| 147
E & 60 - 2 6 44 3 4 -| 36| 107| 727| 58] 7.1
N 423 - 5 267 84 46 21 -| 12| 63.2| 19.8| 108 49
X 9 125 - 2 21 79 20 2 -| 20| 17.1| 633 16.1] 1.5
Ol 27 - - - 2 23 2 - - -| 69| 860| 7.2
BERE 3 - - - - 3 - - - - -| 100.0 -
3 ; Z
& § 75,399 701| 13996 44,161| 10908 3410 2222 09| 186| 586| 145/ 45| 2.9
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(4) SMAHHEUEMBAZK

(BGr:b, %)

s oz |[REHE (b)) [$BEEGM|[B E B S (X X) [SRIEEEE)

- BE & % I EEN] & K IHEEN #wE & K IBRES]l & & (IFHEN

it & & 440 440 -[ 1000 - 10,754] 10,739 15 99.9 0.1

HILERBUS 13,082 13,082 - 100.0 - 86,789 86,788 2 100.0 0.0

F A 8,793 8,793 -  100.0 - 20480| 20,478 2| 1000 0.0

5 F 2,282 2,282 -l 1000 - 10,163 10,163 -l 1000 -

=1 744 744 -l 100.0 - 18,973 18,973 -l 1000 -

B H 89 89 -l 100.0 - 8,867 8,867 -l 1000 -

(1T 1,027 1,027 -l 1000 - 11,688 11,688 -l 1000 -

5 B 148 148 -l 1000 - 16,619 16,619 -l 1000 -

PR EBUS 10,185 10,185 - 100.0 - 105,662| 105,650 12 100.0 0.0

*x W 2515 2,515 - 1000 - 41,962 41,962 - 1000 -

m K 583 583 -l 100.0 - 35220| 35,220 -l 1000 -

BB 511 511 -l 100.0 - 1,980 1,980 -l 1000 -

% E 791 791 -l 100.0 - 3,716 3,710 7 99.8 0.2

F E 1,612 1,612 -l 100.0 - 20598 20,594 5] 1000 0.0

B =R - - - - - - - - - -

wox= I - - - - - 45 45 -l 1000 -

[T} 63 63 - 100.0 - 16 16 - 100.0 -

E % 766 766 -l 100.0 - 328 328 ol 1000 0.0

i @ 3,342 3,342 -l 1000 - 1,796 1,795 ol 1000 0.0

JLpEE BB 1,348 1,348 -l 1000 - 20,033 20,032 1 100.0 0.0

ST 771 m - 100.0 - 9,955 9,954 0 100.0 0.0

= W 527 527 -l 100.0 - 4112 4112 -l 1000 -

a 49 49 -l 100.0 - 2,333 2,332 1 100.0 0.0

fa H - - - - - 3,634 3,634 - 100.0 -

HiEERBUS 7,151 7,151 -l 1000 - 13,291 13,291 -] 1000 -

B B 4433 4433 - 1000 - 4,995 4,995 - 1000 -

| 2,015 2,015 -l 1000 - 4,022 4,022 -l 1000 -

= & 703 703 -l 100.0 - 4274 4274 -l 1000 -

EREBR 1,251 1,251 - 1000 - 5,586 5,586 - 1000 -

# B 528 528 - 100.0 - 4,111 4111 - 100.0 -

" O 243 243 - 100.0 - 129 129 - 100.0 -

X B - - - - - 27 27 - 100.0 -

B & 480 480 -l 1000 - 1,203 1,203 -l 1000 -

= B - - - - - 116 116 -l 1000 -

# %W - - - - - - - - - -

o () Y [E] 22 B /B 3,101 3,101 - 100.0 - 13,187 13,186 1 100.0 0.0

B W 382 382 - 1000 - 501 501 - 1000 -

5 62 62 - 100.0 - 1,384 1,384 - 100.0 -

M W 120 120 -l 1000 - 3,623 3,623 -l 1000 -

= B 1,360 1,360 -l 1000 - 194 194 -l 1000 -

W A 748 748 -l 1000 - 1,280 1,280 -l 1000 -

m B 6 6 -l 1000 - 2,077 2,077 -l 1000 -

F N 284 284 -l 1000 - 116 116 -l 1000 -

T IE 133 133 -l 1000 - 858 857 1 99.9 0.1

=5 6 6 -l 1000 - 3,154 3,154 ol 1000 0.0

NI EBUS 6,055 6,055 - 1000 - 11,949 11,946 3l 1000 0.0

= M@ 262 262 - 1000 - 3,292 3,288 3 99.9 0.1

& B 53 53 -l 1000 - 2,637 2,637 -l 1000 -

E & 290 290 -l 1000 - 138 138 -l 1000 -

N 296 296 -l 1000 - 1,983 1,983 -l 1000 -

X & 2,769 2,769 -l 1000 - 1,800 1,800 -l 1000 -

= 1,546 1,546 -l 1000 - 567 567 -l 1000 -

BE R B 838 838 -l 100.0 - 1,533 1,533 -l 1000 -

3 3 Z Z Z Z Z Z Z Z Z Z

& 42612 42,612 -l 100.0 - 267,252 267,218 34] 1000 0.0
E:1) SUUFOBRCHENRE—BLENBAABHYET .
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-
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g B 228 28.8 67.5 3.1 05
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= 1,767 6.9 87.8 53 -
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72 F 22,329 95.9 3.7 0.2 0.1
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x W 37,549 88.7 9.3 1.6 05
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E W 22 22.5 15.8 58.7 3.0
g N 15 100.0 - - -
£E % 8,181 89.6 9.4 0.9 0.1
g B 1,773 93.3 5.0 1.0 0.6
B [ 27 37.2 62.8 - -
E A 1,631 78.7 19.0 2.3 -
= =B 2,602 54.7 416 35 0.2
B 1,628 82.0 14.7 2.2 1.2
X R 37 - 52.0 45.9 2.1
' E 227 70.9 27.2 1.9 -
= B 121 55.2 29.5 145 0.8
E W 72 175 58.4 24.0 0.1
7 7,908 734 23.2 2.2 1.2
5 B 1,525 93.2 4.2 1.6 1.0
1T 20 100.0 - - -
= B 60 145 65.8 17.3 2.4
F 19 133 85.0 1.8 -
E IR 1,680 23.3 71.3 4.4 1.0
(=i 88 185 49.4 26.2 5.9
X » 4 100.0 - - -
=g 109 69.2 241 47 2.0
N B 360,449 90.9 75 0.7 0.9
HEf-5Y M H 2 - - - 100.0
HE-IFSY * M| 0 - - 100.0 -
FH63E = 875 - - 21.6 78.4
HELEDHL =2 B 571 86.8 13.0 0.2 -
*x W 75 66.5 7.1 26.5 -
m K 535 92.6 55 1.3 0.6

BB -
m E 21 14.6 85.4 - -
F E 681 79.0 19.7 1.1 0.3
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g N 567 67.0 20.8 11.9 0.3

£ % 83 99.9 0.1 - -

T A 641 4.0 32.9 57.6 55

% B 1,424 40.8 52.9 6.2 0.1
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5 97 - 100.0 - -

7 65 - 100.0 - -

L B 418 64.4 25.7 9.8 -

E & 159 8.0 78.3 13.6 -

N 370 6.0 72.2 19.9 1.8

X » 256 9.4 58.1 2.8 29.7

= 566 13.6 416 42.4 2.3

N F 12,992 40.7 47.8 10.3 1.2

T XUk = A 61 8.1 33.7 58.2 -

mNER RN 8 - 65.0 31.1 3.9

DEF 3 B 6,875 73.9 24.9 1.1 0.1

MDESHE = 806 95.5 45 0.0 -

HEDEL E R B 394 67.8 30.1 2.0 -

7¥XEehY @ W 369 82.8 13.2 3.5 0.5

HEIFHH = R B 7,533 49.0 45.0 5.7 0.3

HEFSY BE K 1,657 34.3 63.0 1.9 0.7

X 5 38 38.9 61.1 - -

N EFt 1,695 34.4 63.0 1.9 0.7

HEFEDY [IT= 47 94.1 2.4 2.7 0.8

HEAFA L B 3517 90.3 9.0 0.6 0.0

TR/ @ W 14,087 77.7 21.1 1.0 0.2

DA BB 12 100.0 - - -

m E 18 - 17.7 82.3 -

AN EFt 31 40.0 10.6 49.4 -

ZH [ 4417 82.8 15.6 1.2 0.3

HIVDOE *x W 6,319 76.6 17.7 49 0.8

m K 35,997 91.4 75 0.8 0.4

BB 18,189 87.6 11.7 0.7 0.0

wm E 2,210 52.3 30.2 16.7 0.8

W 426 76.9 19.7 34 -

g B 1,840 17.9 64.1 11.0 7.1

B M| 32 76.3 23.7 - -

Z A 566 04 32.8 66.9 -

£ Ix 0 - 100.0 - -

I E 65,578 84.6 12.3 2.6 0.5

HIPE g & 258 94.3 5.4 0.3 -

¥ i & & 91 97.0 3.0 - -

¥mA BER B 31 - 100.0 - -

HPUVH & & 476 93.0 6.8 0.0 0.1

HhHhHDY s B 135 23.6 50.7 17.2 8.5

RECED = 705 91.9 8.1 - -

19EH) g H 644 72.4 23.6 36 0.4

= =B 53 76 33.1 59.3 -

M F;w 32 13.4 410 35.2 10.4

= B 18 49.7 50.3 - -

= A0 90 37.2 58.5 2.2 2.1

e BB 3,159 19.6 64.8 13.0 2.6

I E 3,995 28.4 57.3 12.0 2.3

W=1=F F E 41 39.8 60.2 - -
N —

I E 41 39.8 60.2 - -
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—&HE * B 1,257 91.9 6.0 16 0.5
WsIEEN B I 4436 95.3 4.3 04 -
A BB 108 59.5 17.9 22.7 -
LDBEDE = W -
w2 12 88.4 11.6 - -
m K 11 97.1 2.9 - -
F E 6 87.2 12.8 - -
S ) 74 2.7 69.5 25.4 23
£E % 39 94.9 5.1 - -
g B 532 52.3 36.1 10.6 0.9
B M 3 81.1 - 9.4 9.4
E A 13 - 715 22.5 -
m 3 - 37.2 9.6 53.2
£ & 8 18.4 81.6 - -
N F 702 49.7 37.9 11.2 1.2
LWhToZ 2 F 5,836 95.8 3.8 0.4 0.0
S5 AER = =B 6 31.3 68.8 - -
ZHDHE E ) 9 100.0 - - -
EX Y zE B 137 100.0 - - -
*x W 6 100.0 - - -
S 224 92.5 75 - -
a 14 71.6 28.4 - -
3 B 1 - 100.0 - -
N Ft 382 94.3 5.7 - -
ZHED I & & 5,565 98.4 14 - 0.2
AATEDHDL = B 96 - 83.1 16.9 -
IILo—L—iF *x B 4 100.0 - - -
LGCY Tk E B 8 100.0 - - -
*x B 7 100.0 - - -
g B 10 - 71.3 - 28.7
B M| 33 37.8 62.2 - -
g -
L B 5 100.0 - - -
N Ft 64 51.1 44.2 - 47
BEY ooB 26 1.2 88.8 - -
E W 7 - 100.0 - -
= H 3 - 100.0 - -
£E % 133 4.3 81.1 14.6 -
g B 127 - 68.6 27.8 3.6
B M| -
E A 194 - 90.7 9.3 -
= =B 33 - 99.4 0.6 -
3 H 29 - 67.8 32.2 -
W 3 74.2 25.8 - -
E W 15 - 32.4 67.6 -
& 111 - 35.8 21.3 42.8
BE K 2 - 100.0 - -
N F 682 1.6 73.8 17.0 7.6
HLTEL F 1,156 73.7 25.4 0.9 -
Atk F 494 0.4 98.7 0.9 -
KFLF AN B B 187 28.9 67.1 4.0 -
BEIZLW T W -
= B 3 36.5 63.5 - -
N EFt 3 36.5 63.5 - -
BETAEZEED £ B 12 23.1 76.9 - -
LG 1,070 64.7 254 7.2 2.7
N B 1,082 64.2 26.0 7.1 2.6
BlEAHDE i & & 9,160 954 4.3 0.1 0.2
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A E W £ 12 2 [ 3  [HER
BEHLEA E W -

MR = W 15 100.0 - - -

£ & 40 98.3 1.7 - -

N F 55 98.8 1.2 - -

MFIEL 52 F 175 85.4 14.2 04 -

BASh E % 5,620 88.5 9.9 15 0.0

ENELS M = 58 66.4 25.1 - 85
D R -

HEEE x W 6 100.0 - - -

I 36 83.9 134 - 2.7

N F 42 86.2 11.4 - 2.3

HEZDRE B [ 874 835 15.8 0.8 -

£ & 41 100.0 - - -

B 915 84.2 15.1 0.7 -

I %2055 B 2 100.0 - - -

Ef<KYA i & & 5587 99.0 0.9 0.0 0.0

bimiE i & & 20 29.3 61.3 9.4 -

FXeAHY i3 25 93.1 6.9 - -

17 272 745 22.1 3.0 0.4

5 11 28.0 57.8 14.2 -

£ 869 44.9 36.7 14.3 4.0

n 259 20.9 75.1 38 0.3

o] 370 445 55.5 - -

H 266 92.1 4.7 3.2 -

¥ 91 77.4 22.6 - -

B 15 56.0 15.5 9.1 19.4

B M 407 64.6 26.4 7.8 1.2

Z A 49 6.0 92.8 1.2 -

= =B 3,703 24.9 67.5 7.1 0.4

B 12,166 55.3 40.8 36 0.3

m 2,454 44.6 419 11.0 2.4

X B 845 14.8 345 471 3.6

E E 6,311 13.9 68.2 17.3 0.7

= B 169 63.7 23.7 6.1 6.5

n il 1,067 5.6 57.3 32.7 43

7 838 48.2 44.3 6.3 1.2

5 B 55 6.5 71.1 19.4 3.0

m B 1,501 36.0 55.8 7.1 1.2

F 3 - - - 100.0

E & 301 32.4 62.6 5.1 -
= -

AE K 4181 3.0 87.9 7.4 1.6

N F 36,228 34.6 54.7 9.7 1.1

ZEHLTH % M 3,140 82.8 14.4 26 0.2
E -

= =B 289 30.2 52.6 17.2 -

B 2,911 82.5 16.4 10 0.1

X R 123 46.2 41.6 4.1 8.1

E E 3,050 57.9 38.8 3.2 0.1

n & 646 61.2 36.8 1.6 0.4

E W 7,386 72.6 25.3 2.0 0.1

& 13,714 67.7 29.9 1.9 0.6

W 8,731 62.8 335 3.2 05

L B 171 99.6 - 0.4 -

w o 2,137 36.4 545 76 1.6

= IR 63 16.7 80.4 2.9 -

N F 42,360 67.0 29.9 2.7 0.4

GlEDE [ 1 100.0 - - -
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& i E i “w 3 = = RERE R
mDIEE m 2,244 73.5 22.2 4.4 0.0
FI—LF M H 64 100.0 - - -
=5(F 52 F 160 100.0 - - -
=55397 I & & 52,245 975 25 0.0 0.0
ELYE IR | -
EHYA E % 43 2.7 96.5 0.8 -
EDNASE = W 468 13.7 432 43.1 -
M M| 46 83.1 13.6 34 -
W 8 19.9 80.1 - -
7 -
L B 3 - 100.0 - -
W o 15 73.3 26.7 - -
N E 540 21.3 41.0 37.7 -
FADDHSH Mt M| 2 100.0 - - -
W 201 93.4 6.6 - -
£E % 4 100.0 - - -
g% [ 26 49,0 51.0 - -
N EFt 234 88.7 11.3 - -
&3 Ik B 5 - - 100.0 -
BHESH B M -
3 B 42 0.1 7.9 92.0 -
N EFt 42 0.1 79 92.0 -
R DLT< 2 F 7,302 99.8 0.2 0.0 -
EFASA M H 1,927 73.1 20.9 5.9 0.1
CESADESE B K 698 65.3 33.8 0.9 -
{ESADD B2 X 2,180 57.9 415 05 0.2
29U E W 3 - - - 100.0
&<l 2 [ 7,088 13.4 76.1 9.0 1.6
TAZEED R 2,376 89.2 9.0 1.8 0.0
EDF % m K 2 100.0 - - -
F E -
2 96 88.3 4.7 7.0 -
5 B 937 82.1 15.2 2.1 0.6
W o 306 60.3 31.0 85 0.2
N 139 19.1 48 1 18.2 14.7
AN EFt 1,479 72.1 20.8 5.3 1.8
ZWWEAL 5 B 630 92.9 5.8 05 0.8
He = 13 13.1 38.3 429 5.7
=g 5 52.6 46.2 1.2 -
N EFt 18 24.6 40.6 30.7 4.0
Eol] = =B -
—ZAHED R -
cLLWAE R 83,669 85.8 13.1 0.9 0.1
R R4 R 79 99.2 0.8 - -
HBoNEY R 19 - 58.2 418 -
E 1B —
I E 19 - 58.2 41.8 -
aTeAY g A 6 100.0 - - -
52 F 41 98.3 1.7 - -
=/ O 1,226 87.4 11.6 0.9 0.1
M M| 259 78.3 20.1 0.7 0.9
w2 8,184 89.8 9.4 0.4 0.4
T B 121,522 91.3 8.1 05 0.1
*x W 122,003 79.9 16.9 2.7 05
m K 106,408 92.7 6.7 05 0.1
BB 1,920 60.2 36.7 3.0 0.0
wm E 9,495 46.2 39.9 12.9 1.1
F E 78,342 88.8 10.2 0.8 0.2

-13-




(BB b, %)
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avkehY (DDF) = 33 35.3 59.1 5.6 -
S ) 261,978 68.6 29.5 1.4 0.4
E W 82,253 89.1 10.1 0.7 0.2
g N 43,328 87.2 11.0 1.1 0.6
= H# 26,140 86.5 9.5 1.2 2.7
o 3,960 82.7 15.2 2.0 0.1
£ % 62,664 95.9 3.7 0.4 0.1
Iz B 8,640 53.8 40.3 4.1 1.8
B M 13,648 78.8 16.5 36 10
T A 14,116 39.0 57.0 35 05
= = 42,357 39.2 56.0 45 0.3
B 24,969 77.1 21.0 1.6 0.3
m B 13,197 67.0 25.9 5.6 1.6
X R 46 28.3 57.0 14.8 -
E E 19,654 51.1 435 48 0.5
= B 589 82.0 9.6 7.8 0.6
M Fw 302 34 76.6 18.4 16
E W 8,205 375 56.4 5.3 0.9
g 16,976 66.0 30.4 3.2 0.4
7 8,920 80.3 17.1 2.1 05
5 B 21,753 87.0 11.6 1.1 0.3
W o 7,669 815 15.1 2.3 1.0
m B 13,253 54.4 41.7 3.1 0.8
EF 4,121 5.3 89.4 5.3 0.0
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E B 1,598 48.9 49.0 1.8 0.3
N 7,483 68.7 28.2 2.0 1.1
X » 1,458 66.1 27.8 4.7 1.3
T G 15,655 74.3 20.9 3.9 1.0
BERE 4,997 44.2 50.5 45 0.7
N F 1,202,554 77.2 20.6 1.8 0.4
aLEAVIRTE = i -
=l B W 36 100.0 - - -
M M| 43 100.0 - - -
z B 66 80.6 135 - 5.9
wm E 34 100.0 - - -
F E 345 88.7 7.7 35 -
S ) 90 19.3 446 35.4 0.7
a 35 334 39.8 26.8 -
o F 90 60.6 39.4 - -
£E % 66 69.2 215 9.2 -
= B 13 30.1 69.9 - -
N B 819 74.1 18.1 7.3 0.6
JOEARY B 5 - 62.8 37.2 -
EBEDE 52 F 1,152 98.3 1.7 - -
=L2555 g B 1 100.0 - - -
FDMHHOE m E 16,994 21.9 48.0 26.3 3.8
FEDETI B X 11,956 74.0 22.8 2.9 0.4
EDIFIFZH B X 0 - - 100.0 -
EDHDY B X 86 35.3 34.2 28.4 2.1
SHUVELY 5 B 8,400 745 23.1 1.6 0.8
=M | 4 - 29.7 70.3 -
YL =R 50 64.8 25.7 9.2 0.2
oI x 5 F 416 80.6 18.2 1.2 0.0
= B 11,053 80.8 17.8 1.3 0.1
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A E W i Z = 13 & [RER
YH =X (DDF) M M| 739 69.4 26.9 2.9 0.8
w2 1,259 74.7 24.6 0.4 0.3
B 5 79 84.7 145 0.9 -
m K 2 5.0 61.7 33.3 -
3 B 16 36.2 63.8 - -
A Et 13,564 79.6 19.0 1.3 0.2
IHEEX = B 3 - 100.0 - -
ZELFA = 565 21.4 77.3 1.2 0.1
= =B 137 66.5 29.3 4.1 -
I E 702 30.2 67.9 1.8 0.1
BowE W 13 71.3 145 8.2 -
BlLNDOAR 2 B 14,601 93.8 5.7 05 0.0
THERLVELN F 70 - 100.0 - -
=hhsY 2 A 27 - 31.1 67.4 14
ShDIE% W 49 37.8 421 18.3 1.8
ShUuhy B E 10 - 100.0 - -
SASAED t B & 714 62.1 35.8 - 2.1
Bk 15 I B 8 100.0 - - -
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S 14 - - 100.0 -
E W 15 - - 100.0 -
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I E 41 - 25.4 74.6 -
HEEZCH m K 0 100.0 - - -
m E 151 89.4 10.6 - -
N EFt 151 89.4 10.6 - -
2B R 15,420 98.0 1.6 0.2 0.2
2/—I15—)L P 43 - 100.0 - -
BRDEE "7 & 7,842 96.4 34 0.1 -
HENIZC [IT=! 10 99.7 0.3 - -
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ToE i & & 3,267 99.7 0.3 - -
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w2 89 99.1 0.9 - -
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P2 s4% 2 [ 321 18.9 80.7 0.5 -
KLAFEA 2 [ 59 3.6 84.9 7.8 3.7
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z B 548 75.2 24.8 -
*x W 884 68.8 22.0 9.2 -
F E 129 92.9 6.1 10 -
S 495 20.6 78.8 0.6 -
E W 4 - 100.0 - -
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I E 3,449 56.0 39.6 4.2 0.2
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Tht=H< =1 17,344 88.7 8.9 1.9 05
= 51 241 50.8 21.1 40
I\ 17,395 88.6 9.0 1.9 05
RKDDA 12 39,530 79.9 17.8 2.1 0.2
XKEZLE E 223 59.7 35.8 45 -
1945 = 1,092 85.9 125 15 -
ERBED = 13 100.0 - - -
T1kER = 10 - 76.9 23.1 -
EHEENE Liii 28,632 91.3 15 1.0 0.1
rROXD+ Eo 301 7.3 91.4 0.2 1.1
ERDHH x 221 87.1 11.2 1.7 -
L] 9 100.0 - - -
1% 99 - 38.9 61.1 -
¥ 108 62.4 33.2 4.4 -
I\ 438 61.5 22.7 15.8 -
EFALEH 1l 359 99.8 - - 0.2
(= b2 = b= 82 85.0 15.0 - -
= 290 74.9 23.6 0.7 0.8
I\ 371 77.1 21.7 0.6 0.6
2E15 = 69 - 76.2 22.0 1.8
LEHE * 2,944 75.6 18.9 5.4 0.2
T 585 68.0 30.0 1.9 0.1
a 191 29.3 13.6 45 52.6
AE 286 19.4 52.9 25.8 1.9
i3 59 - 100.0 - -
/] 4,065 67.2 23.8 6.2 2.7
EALEZLY o 130 85 71.0 20.0 0.6
2 78 6.0 15.8 78.2 -
A 43 64.2 - 35.8 -
= 225 20.3 64.9 145 0.2
= 169 435 53.3 2.6 0.6
= 1,496 36.9 56.6 6.2 0.3
N 25 71.3 20.1 2.6 6.1
/N 2,165 33.8 55.1 10.8 0.4
EAULDY = 3,547 93.6 6.2 0.2 0.0
RAEFHTFR = 65 - 100.0 - -
] 235 - 99.2 0.6 0.3
N 995 80.0 17.0 3.1 0.0
1] 895 39.3 38.7 19.6 2.4
I\ 2,190 52.4 37.1 95 1.0
MAH)J vk * 2 100.0 - - -
1% 2 - 92.4 - 76
T 2 - 100.0 - -
3] 5 - 100.0 - -

§ —
I\ 11 13.7 84.7 - 1.6
BIYpE # 2 100.0 - - -
BIUMnY il 10,216 85.0 12.7 1.9 0.3
EDLVA = 200 73.1 23.9 2.0 1.0
HoELY E 209 94.7 2.3 3.0 -
HOLTH &% 11 83.8 7.3 8.9 -
BEDEH = 1,057 25.6 42.6 29.8 2.0
+vEhHY = 203 36.4 49 1 8.8 5.7
IRSIEINYN E 1,445 60.6 35.8 34 0.2
fE IR 2,723 32.2 485 16.9 2.4
I\ 4,168 42.0 441 12.2 1.6
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& i E i o = = RERE R

I DIEL i & & 216,881 97.1 2.7 0.1 0.0

b= B B 1 - - 100.0 -

BEEZES = 286 40.2 52.8 7.1 -

[ZZF53 m K 3 100.0 - - -

wm E 53 90.6 8.2 1.3 -

F E 8 24.3 75.7 - -

g N 14 97.3 2.7 - -

% m 1,085 86.7 9.7 34 0.2

E A 101 66.0 34.0 - -

% B 477 87.3 10.2 2.1 0.4

m 11 94.2 5.8 - -

X R 152 484 473 43 -

E E 130 61.7 35.9 24 -

M Fw 99 64.4 29.7 45 15

5 & 298 88.3 1.7 - -

7 3,325 82.5 16.5 0.8 0.2

L B 34 96.2 2.9 0.9 -

W o 183 57.4 27.9 12.9 1.7

F 131 51.3 48.2 05 -

Z IR 1,943 66.5 32.8 0.6 0.1

= 993 40.4 53.1 5.3 1.3

= [ 529 18.2 81.1 0.7 -

® B 76 4.3 86.6 9.1 -

E & 2,765 27.4 69.3 2.7 0.6

N 1,677 68.8 31.0 0.0 0.1

X » 881 455 52.7 1.8 0.1

T OIK 177 65.9 14.7 17.2 2.1

R B 62 30.2 69.8 - -

N EFt 15,206 60.3 37.3 2.0 0.3

[CLDELHE I B 533 27.7 67.3 0.1 49

SPN: *x W 112 71.8 20.8 74 -
m K -

wm E 121 5.0 115 82.7 0.7

E W 169 86.9 13.1 - -

a 686 93.3 6.4 0.3 -

g H 2,437 48.9 44.9 5.8 0.3

g B 10 37.3 46.2 7.2 9.3

B 7,342 48.8 45.6 5.2 0.4

m 168 94.1 1.7 3.0 1.1

E E 619 37.9 61.0 1.1 -

M o W 14 - 88.5 115 -

E W 70 59.8 33.7 6.5 -

7 11 49.9 32.1 10.4 76

W o 1,954 31.0 28.2 36.2 46

= B 6 - 76.2 23.8 -

B =B 18 1.6 22.3 75.2 0.8

N F 13,739 48.8 40.3 10.0 0.9

/15 = A 29 - 100.0 - -

BEH15 L) 4 88.1 11.9 - -

EH215 a 2 100.0 - - -

BEM485 o F 121 31.8 61.4 6.8 -

BEEUMNY a 1,464 79.1 16.3 2.4 2.2
E{A *x B -
g B -

B [ 2 100.0 - - -

Z A 4 - 100.0 - -

[ I 8 78.3 21.7 - -

N F 15 58.1 41.9 - -
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o = % R i =
& i E i R = = RERE R
NATYyRESTS535 *x W 1,092 49.1 45.3 5.6 -
g B 85 15.1 84.9 - -
" 560 75 85.3 7.2 -
I E 1,738 34.0 60.1 5.8 -
NATYYRESTH545 M H 1,677 39.4 59.1 15 -
EINES] B -
[Tz shE M M| 102 100.0 - 0.0 -
w2 144,679 94.6 5.0 0.3 0.1
E B 501 87.4 11.7 0.8 0.1
*x W 5 - 100.0 - -
R 10 42.0 58.0 - -
g H 558 89.2 10.0 0.8 -
= 33 1.8 89.8 8.4 -
N F 145,888 945 5.1 0.3 0.1
ETEOMEY = B 0 - 100.0 - -
EAADY ooB 436 96.0 15 0.0 24
INYVE I B 8,222 48.4 39.6 5.8 6.2
£ 236 75.5 16.1 8.5 -
N F 8,458 491 38.9 5.9 6.0
INFIFEY = W 0 - - 100.0 -
| 1,837 81.9 13.9 2.2 2.0
= H 23,324 88.9 7.0 1.3 2.8
% H 921 91.8 7.4 0.2 0.5
E E 224 24.1 73.1 29 -
n & W 17 50.8 43.7 45 0.9
E W 7 76.3 3.7 20.1 -
g 838 81.0 13.9 46 0.5
m B 631 55.0 38.6 4.4 20
N F 27,798 87.0 8.9 15 25
X3 = W 15 100.0 - - -
w2 -
E W -
| -
1T ~
N F 15 100.0 - - -
lThEoFE = R B 67 56.4 24.2 194 -
[XHEDEN w2 10 100.0 - - -
s B 4 78.8 2.7 185 -
I E 15 93.6 0.8 5.6 -
(X5 *x W 97 78.2 15.5 6.3 -
M= N 2,156 33.2 65.5 1.3 0.0
m B 34 544 34.0 116 -
N EFt 2,287 35.4 62.9 1.6 0.0
555 W a 605 71.5 20.0 2.0 0.5
ExT!) = A 57 - - - 100.0
EAVi 4 2 H 40 18.4 81.6 - -
UhZES E E 173 75.1 232 1.7 -
W 39 79.9 20.0 - 0.1
= AN 1 100.0 - - -
BE K 51 83.0 14.1 1.9 1.0
N Et 264 77.4 20.9 15 0.2
EAV A m K 7 100.0 - - -
F E 23 100.0 - - -
S 3 100.0 - - -
= = 22 32.6 66.2 1.2 -
3 H 12 92.0 8.0 - -
W 12 100.0 - - -
E E 1 - 100.0 - -
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o < % R i =
A E W i £ 12 2 [ 3  [HER
EAVEFELE(DDE) M W 71 - 95.7 43 -
E W 5 - 416 58.4 -
7 3 51.8 46.5 - 1.8
L B 2 67.2 32.8 - -
= B -
& N -
= A 0 - 85.7 14.3 -
AE K 92 6.7 88.6 3.2 15
N F 252 28.5 67.3 3.6 0.6
EAYya = A 4 - 60.0 40.0 -
VEDHIEFN g & 53 100.0 - - -
52 F 101,745 93.4 6.0 0.4 0.2
= W 147,233 91.3 8.1 05 0.1
Mt M| 18,380 95.0 4.4 05 0.1
W 15,877 95.0 46 0.4 0.1
T B 48,555 90.9 8.4 05 0.2
*x W 2,219 80.7 15.3 2.9 1.0
wm K 231 94.9 48 0.3 -
BB 601 14.1 71.6 14.3 0.0
F E 590 92.9 5.8 1.1 0.2
S ) 624 72.2 25.9 1.9 -
E W 17 98.6 - 14 -
a 268 82.4 175 - 0.1
= H# 69 97.1 29 - -
W 34 88.7 8.9 2.4 -
£E % 986 95.6 3.7 0.6 0.1
g B 1,203 48.9 418 4.7 4.7
B M| 221 65.1 31.9 3.0 -
E A 368 422 56.8 1.0 -
= = 35 14.8 64.9 20.3 -
B 547 95.2 35 1.2 0.1
X R 2 443 40.5 15.2 -
= B 587 63.7 18.9 16.0 1.4
E mW 5,045 44.7 51.3 3.3 0.6
7 844 73.9 24.2 1.3 0.6
L B 2,403 81.7 16.8 0.9 0.6
W o 5,293 67.6 25.2 4.9 2.2
= B 11 88.6 11.4 - -
E & 16 - 100.0 - -
= 4 26.6 18.0 42.2 13.3
E XK 421 58.6 37.7 2.8 0.9
X » 3,147 76.9 19.4 2.9 0.8
=g 7 74.9 13.2 - 11.9
oA 1,087 65.0 27.7 5.3 2.1
I E 358,722 90.4 8.7 0.7 0.2
E/ERY [T 294 30.8 64.9 4.3 0.1
g B 6 54.1 36.8 9.2 -
B M| 221 86.2 134 0.3 -
= =B 53 63.4 34.3 2.2 -
B 520 718 21.4 0.7 0.1
W 1,877 40.8 51.9 5.9 1.4
X R 1,862 495 44.6 5.8 0.1
E E 6,094 4715 475 49 0.2
= B 8,498 75.7 21.3 2.5 0.5
M F;ow 137 46.6 453 8.2 -
E W 5 39.3 60.7 - -
5 29 - 39.5 60.5 -
oW 5,699 31.0 60.4 7.9 0.7
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& i E i o = = RERE R
E/ERD) (DDF) L B 942 65.2 28.3 6.1 0.4
W o 2,799 38.4 40.0 15.8 5.7
= B 341 38.3 53.0 8.3 0.4
EF 3,322 6.6 88.8 43 0.3
E & 2,863 21.8 74.7 3.2 0.3
= 2,150 6.2 75.8 16.4 15
= [ 10,028 10.1 83.9 46 15
® = 7,066 388 54.6 5.9 0.7
£E & 2,412 6.8 82.6 9.3 1.3
N 24,489 23.8 69.7 5.8 0.7
X » 11,717 29.5 52.3 15.1 3.0
= G 11,811 19.4 58.9 19.1 2.6
BERE 14,613 34.3 457 185 15
INE 119,848 30.8 58.2 9.7 1.3
BZDH * W 53 94.1 5.9 - -
L B 8 49.6 50.4 - -
F 67 74.8 16.6 8.7 -
2 [ 18 24.3 70.7 - 49
N F 146 74.2 21.2 4.0 0.6
DHDE T IE 449 66.9 325 0.5 0.1
DoSEAR a 7,519 88.4 10.6 0.8 0.3
EEDPHELED E E -
,S\(L\j:ﬂ {Zl-: ’ﬁ -
28405 2 5 37 100.0 - - -
SLDLVE i [ 0 - - 100.0 -
ADEH g B -
J9EAhHY) E W 2 100.0 - - -
= H# 2 28.8 71.2 - -
m 2 57.8 42.2 - -
E E -
Z IR 2 452 54.8 - -
= 248 40.6 51.1 8.3 -
N F 255 411 50.9 8.0 -
ASALOUE = 77 100.0 - - -
SKED *x B 4,861 85.7 10.9 3.1 0.3
SEIHED F E 27,772 94.2 5.3 0.4 0.1
SEThHH F E 55,408 92.9 6.4 0.6 0.1
SoKYAC I & & 22,575 95.4 4.4 0.2 0.0
EEE E W 6,167 96.2 3.4 0.3 0.0
T ZAMEY 5 m -
roLA L B 1 - 100.0 - -
JtBE1935 B2 X -
IZLLAL *x W 3,563 83.7 13.6 2.7 -
m K 1,778 85.4 135 1.1 0.0
g BB 3,128 4.2 92.6 3.0 0.2
= B 1,191 10.7 48.2 39.1 2.0
N E 9,660 49.3 434 7.0 0.3
2XE E W 2,460 75.4 23.8 0.8 0.0
ELDR&H it & & 2,170 99.2 0.7 0.0 -
FLED it #E & 637 99.8 - 0.2 -
" 3h & = 3 - 100.0 - -
ZomYA 5 & 102 83.5 49 5.7 5.9
EJEJES0LT a 89 99.5 0.4 - 0.2
FOTHE 5 F 16 100.0 - - -
Bm B 157 67.4 27.3 5.3 -
*x W 1 - 100.0 - -
A N -
= H 313 86.4 9.0 46 -
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FOTHE(DDF) E B 81 99.6 0.4 - -
% EH 67 47.1 49.4 3.6 -
m 2 - 100.0 - -
T E 78 33.6 66.4 - -
= B 52 55.3 37.3 74 -
AE K 67 76.2 9.3 9.3 5.2
I E 835 73.2 22.2 4.2 0.4
EFLOMY EG 359 50.6 29.0 20.3 0.2
EJRIIY) 2 5 1,601 99.1 0.8 0.1 -
FoLLH g & 166,202 94.2 5.1 0.6 0.1
WIU=H T IE 428 55.5 44 1 0.1 0.3
KUK T A -
m 20 27.6 455 6.6 20.3
N 11 42 27.7 425 25.7
N F 30 19.3 39.2 19.2 22.2
FHEELTH R 7,569 92.9 6.4 0.6 0.1
=E235 = = 1,033 94.8 5.2 - -
HAZDZH = = 917 67.1 24.6 7.1 1.2
HZDDH = = 1,717 40.1 55.6 4.1 0.1
HG HVHH B B 11,582 85.4 12.3 2.0 0.3
InfEES w2 10 100.0 - - -
= B 41 80.7 19.3 - -
I E 51 84.6 15.4 - -
SXRFHT BE K 521 - - 23.9 76.1
HTFDIEE ooB 8,881 60.1 37.0 26 0.3
# %358 ElC 3,891 0.9 16.4 82.6 0.1
HFDOUMY z B 130 37.8 62.2 - -
*x B 269 91.7 35 48 -
m K -
% E 157 57.1 42.9 - -
F E 103 63.3 36.7 - -
S ) 147 - 100.0 - -
E W 33 - 100.0 - -
a 111 100.0 - - -
= H# 259 100.0 - - -
g B 944 13.3 79.9 2.7 4.2
B M| 2 1.2 98.8 - -
E A 4 29.4 70.6 - -
= =B 453 39.6 59.4 - 1.0
B 367 3.7 96.3 - -
E E -
7 91 100.0 - - -
W o -
Z IR -
N 84 - 93.2 6.8 -
N —
N F 3,155 39.1 58.2 1.4 1.4
HEYE g2 B -
3 B 39 71.9 28.1 - -
N F 39 71.9 28.1 - -
SRT7YE g B 27 42.0 58.0 - -
T A 1,372 79.0 16.3 3.9 0.7
M & W 2 - 25.7 74.3 -
N F 1,401 78.2 17.1 4.0 0.7
H1alEBH Z Al 105 41.0 58.4 0.6 -
HDIZLE g B 20 6.2 87.8 6.0 -
EYo<KL 2 [ 338 63.6 34.0 0.9 1.4
HDY) DB = B 401 62.8 31.1 6.2 -
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& i E i “w 3 = = RERE R
HDY DFE = =B -

BIE525 =G 1,181 30.5 37.5 27.5 45

xR —H14—> 5 F 40 100.0 - - -

= W 103 85.4 9.3 5.3 -

M M| 220 93.3 4.2 25 -

w2 628 87.0 11.3 0.6 1.0

B 5 1,921 85.9 12.9 0.8 0.4

*x W 3,979 84.6 11.7 3.0 0.7

m K 772 91.2 8.0 0.3 0.5

BB 14 91.7 74 0.8 -

wm E 241 51.6 416 6.8 -

F E 1,086 94.7 49 0.4 0.0

oon 1,418 452 51.0 35 0.3

E W 1,621 92.9 6.9 0.2 -

g N 647 82.0 12.8 4.4 0.9

= 383 70.8 27.8 0.9 0.5

W 42 83.6 16.4 - -

£ % 1,662 97.4 2.5 0.1 0.0

g B 291 30.9 63.5 1.1 45

B M| 305 62.6 30.1 5.7 1.6

Z A 981 324 61.4 6.3 -

= = 643 50.1 4715 1.8 0.6

B 1,787 65.7 32.7 15 0.2

m 235 56.0 42.0 2.0 -

E E 318 62.0 35.3 2.2 0.6

E mW 54 56.6 37.7 5.7 -

g5 13 37.8 62.2 - -

7 138 413 44.6 12.9 1.2

5 B 625 93.1 5.0 1.4 05

W o 26 59.4 34.8 5.8 -

m B 30 418 57.2 1.0 -

= AN 194 38 91.3 48 0.0

= [ 121 26.9 71.2 1.4 0.5

N 355 75.7 20.6 1.1 26

X » 32 49.2 50.2 0.6 -

= G 269 82.9 16.0 1.1 -

BERE 212 215 70.5 75 0.5

N B 21,405 75.1 22.3 2.1 05

SLF—YT— F E 1 100.0 - - -

oA 13 - 83.2 12.0 48

N F 14 9.1 75.6 10.9 4.3

SLF—TJotR # /A 314 39.4 60.6 - -

E B 29 55.5 16.7 27.8 -

BB 7 0.9 99.1 - -

M W 1 - 854 14.6 -

N F 351 39.8 57.8 2.3 -

L= % g & 35 85.2 14.8 - -
L2FFEN g & -
THoI=NE E E -

DAV . H 25,160 91.7 7.7 0.4 0.2

BHAADY 5 F 802 92.6 4.7 0.6 2.0

=T W 5,670 91.2 6.9 1.9 -

M M| 2,965 82.1 15.8 15 0.6

w2 147 100.0 - - -

*x B 2 - 100.0 - -

F E 576 952 48 - -

N F 10,162 89.0 9.1 15 0.3

HZDESA E X 6,497 8.1 85.8 5.8 0.3
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s = % R =

& i E b “w 3 = = RERE R

ILFZ955 T2 2,465 94.3 5.1 0.4 0.2

PELEDHSL S ) 125 - 19.7 79.8 0.5

W o 58 - 5.3 75.3 19.3

AE K 1,554 48 61.6 335 0.1

N F 1,736 43 56.7 38.3 0.8

PEDLTK R 59 54.7 40.6 46 -

4=l = = 8 7.9 45.2 46.8 -

M F W 4 - 100.0 - -

E 0 - 100.0 - -

N F 12 48 66.7 28.4 -

W3711V21 g B 76 98.7 1.3 - -

*x W 7 100.0 - - -

m K 568 94.0 6.0 - -
B E -

F E 37 433 56.7 - -

E W 613 93.9 5.8 0.0 0.2

g N 69 100.0 - - -

% H 161 76.7 23.3 - -

E [E 1 100.0 - - _

N F 1,533 91.4 85 0.0 0.1

MY DE E & 0 - - - 100.0

WEHED 52 F 1 100.0 - - -

ECHA i & & 747 79.2 15.4 438 0.6

PpEIHAH i & & 583 95.3 45 - 0.2

WEDFE ooB 972 81.1 15.7 3.0 0.2

WEDILA g & 1 100.0 - - -
ENiE it #E & -
WEDDHS H dt & @& -

pEUMY dt & & 339 95.1 4.6 0.3 -

WELFT U = O 84 94.6 5.4 -

WwEHDOH it & & 55 46.6 53.4 - -

EEAL T 16,747 97.5 2.4 0.0 0.1

WEAFE ooB 22,976 88.4 9.3 2.2 0.2

Ww#HHITS " F 579 97.2 2.6 - 0.2

= O 1,152 57.8 422 0.0 -

IhE 1,730 70.9 29.0 0.0 0.1

=—Hk Sl 445 1.9 94.7 3.3 0.1

=\ (Fy T 106 98.2 - - 1.8

P&HEHEIH 3 B 1,181 60.4 38.0 1.7 -

WpHEIEZ # H 8,319 86.8 12.5 0.6 0.1

P &HIEZ F ¥ 13 90.9 9.1 - -
2205 = 5 -
o= -

w2 157 99.7 - 0.2 0.1

B B 24 100.0 - - -

*x W 43 100.0 - - -

m K 19 100.0 - - -

F E 3 95.2 48 - -

S ) 33 68.8 31.2 - -

E W 5 100.0 - - -

g N 54 100.0 - - -

= HF 25 98.8 1.2 - -

E B 51 100.0 - - -

s B 39 - 100.0 - -

= = 242 83.0 15.6 1.4 -

% B 405 771.7 21.1 1.1 -

WA 67 89.8 10.2 - -

E & 53 94.1 5.9 - -
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& wo| @ o3 = _®& r =
=3 2 % 3 F |HAEHN
225 (DDF) B 1,218 84.3 15.0 0.7 0.0
P HTOH 5 -
ZL9< E 11,613 25.4 61.9 10.6 2.1
W&HLIED g 222 97.7 2.2 0.1 -
=2<L ] 25,182 6.8 81.2 10.2 1.8
ZNE = 13 100.0 - - -
E 15 100.0 - - -
iR -
IJ.I -
= 76 86.1 13.9 - -
it 104 89.8 10.2 - -
aAAEHY o 43 100.0 - - -
wHU=5 17 2,455 51.9 34.9 12.8 0.4
% -
it 2,455 51.9 34.9 12.8 0.4
pHUY 107,332 95.3 45 0.2 0.1
WwHEDY 3,107 74.9 22.2 3.0 0.0
1,306 53 59.6 34.9 0.3
4413 54.3 33.2 12.4 0.1
WpHHDIFE 20,279 89.1 9.2 1.2 05
50N 32 56.0 38.9 5.0 -
FEEEA 632 27.9 62.5 6.8 28
LA 24 79.1 18.1 2.9 -
133 545 455 - -
92 17.4 78.9 3.7 -
250 43.3 55.1 1.6 -
L—%65 938 79.0 17.9 3.1 -
HhtA 2 73.3 26.7 - -
FEEHh ShiEERARET 3,973,522 81.0 16.5 2.0 05
WREH= 4,044,475 80.3 16.6 2.1 1.0
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AR & E i = § T = > = 3 = R
EEAN % M 40 21.7 68.1 10.2 0.1
HMYEH i & 771 7.0 92.6 0.4 -
& 5 F 41 - - - 100.0

# | 143 - - - 100.0
w2 13 - - - 100.0
B B 1 - - - 100.0
(1T 25 - - - 100.0
L 2 - - - 100.0
N B 224 - - - 100.0
FAIAEF g & 35 34.4 42.4 23.3 -
HILELD 2 B -
245 a 455 67.2 11.8 2.3 18.7
FRAEF g 0 - - 100.0 -
hINETF 5 F 2 100.0 - - -
hISEF E W 16 100.0 - - -
a 824 72.7 25.1 15 0.6
2 H 681 89.6 7.3 2.7 0.4
N E 1,522 80.6 16.9 2.0 05
BDFEH d & & 18,713 98.9 1.1 - -
=R I 22 15.6 76.7 7.7 -
EOLHIFE i & & 1 - - - 100.0
=-5<4HH i # & 794 100.0 - - -
EpELE i # & 8,997 95.6 44 - -
=HDIET: # H 4,540 13.4 83.8 2.3 0.5
=Rh(FEEL m K 369 80.0 19.0 1.0 0.1
EhAHUEE I B 42 - 20.8 75.6 3.6
GULFTAEF = 108 13.7 74.3 10.2 1.7
= 2 58 7.7 848 6.5 0.9
N E 165 11.6 78.0 8.9 1.4
HERESS B B 34 248 57.4 16.7 1.1
_hhtb 5 F 1,013 88.0 9.8 2.2 0.0
M B 134 39 95.8 0.0 0.2
(1T 58 87.2 8.3 4.4 -
m B 1,421 62.9 34.3 25 0.3
*x W 6 443 33.0 - 22.7
B 11,300 50.0 45.7 3.3 1.1
E W 61 60.4 34.7 4.2 0.7
[T 102 51.1 458 3.2 -
N E 14,095 53.8 42.2 3.1 0.9
CCDA1E A 7 - 100.0 - -
Ja/IEF g B 19 15.0 43.8 40.8 05
Z A 45 23.0 76.8 0.2 -
E R 233 67.7 26.5 4.4 1.3
2 137 38 84.2 10.7 1.3
L B 357 446 354 18.3 1.7
N E 791 42.4 43.8 12.4 1.4
Y ) R 36 - 100.0 - -
—ELL W 661 76.4 21.1 2.3 0.2
YAIA1EF a5 A 9 18.8 33.7 38.0 9.6
EALE o 22 - 85.7 14.3 -
IDFEFEL E R B -
SDFBEED BER B 17 - 48.9 47.3 3.7
SDFELD BE R B -
SDFELDL BE R B 126 22.5 44.3 32.8 0.4
BEP_ERE B 1,948 75 80.5 10.9 1.1
= ER A 7 & 2 - - - 100.0
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(BAfL: b2, %)

o s = & & ke &=

& i E i w3 T = > = 3 2 (B R
+E%E T A 168 25.5 42.8 31.5 0.2
=[ITEXS A 756 56.4 24.6 2.9 16.2
HRIEFE E W 2,384 75.9 20.6 3.3 0.2
a 303 75.2 18.3 6.4 0.1

2 H 5 100.0 - - -

N E 2,692 75.9 20.3 3.6 0.2

HP=EE m# 165 8.1 78.9 12.2 0.7
it g W 6 425 50.5 7.0 -
I50E5 g M 2 8.0 92.0 - -
f=hPpFELH Iz B 997 65.5 25.9 7.2 14
=-2Z3b W | 9,842 5.8 93.3 0.8 0.2
1T 59 51.0 347 14.3 -

N E 9,901 6.0 92.9 0.9 0.2

=E0HEH =2 A 50 - 67.0 33.0 -
BOFIADETF i 547 89.3 9.3 0.9 0.5
YEIEF F % 46 1.0 94.7 4.4 -
ThDtb w2 715 68.7 30.9 0.3 0.1
EEHELDL M H 2,214 1.1 98.7 - 0.1
EHBBMD = W 847 98.5 1.3 0.2 -
[FB&L£5EH it # & 12,148 98.5 1.5 0.0 -
INGNETF B W 89 10.5 57.8 31.6 0.1
IFYFELH E E 147 35.0 59.7 5.3 -
ETIEF B2 A0 14 30.9 441 23.0 2.0
k=B 37 10.6 73.8 14.7 0.9

N E 51 16.1 65.8 16.9 1.2

EA/EF ' & 4 100.0 - - -
5 F 7,507 8438 12.7 2.1 0.3

T W 8 - 92.6 7.4 -

M = 38 0.9 99.1 - -

(1T 5,397 70.6 25.4 3.3 0.7

m B 1,229 88.8 10.3 0.6 0.2

* W 143 73.7 16.6 6.3 3.4

7R N 55 76.5 10.3 10.1 3.1

F E 4,951 86.6 12.5 0.6 0.3

£E % 101 86.4 7.1 6.2 0.3

% B 18 99.5 05 - -

B W 278 75.4 22.1 1.9 0.6

E 516 438 38.0 17.2 1.0

2 671 2.5 90.4 6.7 0.4

L B 554 37.9 55.9 48 15

N E 21,468 76.7 20.1 2.6 05

E3VEF T A 79 27.8 61.5 10.7 -
= B 17 - 92.1 7.9 -

WA 143 42,5 46.3 105 0.7

= [ 540 0.3 89.9 8.8 1.0

® B 10,107 7.3 77.1 14.2 1.3

£ 5 40 - 94.1 5.9 -

[N 5,099 3.3 91.0 5.0 0.7

N 170 0.4 73.3 26.3 0.0

INEE 16,194 6.1 81.6 11.2 1.1

SZDEHE F E 446 70.8 24.6 3.0 15
RUTIETF *x W 681 52.5 39.0 6.1 2.4
F E 261 437 50.2 5.7 0.4

% B 66 35.9 58.7 5.4 -

£ E 151 4.1 80.9 13.7 1.2

W A 56 245 52.9 21.4 1.2

N F 1,214 42.4 48.3 7.7 1.6

FASKED B B 20 0.8 5.3 94.0 -
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(BAfL: b2, %)

o - & & ke &=

o R Eo : Z |2 2 [ 3 E [BEH

SacEF E B 159 10.0 76.5 12.9 0.5

L LEE Z Al 5 - - - 100.0

ENELL % E 25 9.9 66.9 23.2 -

F E 1,753 80.4 17.2 24 -

a 18 71.3 28.7 - -

% M 241 54.9 35.7 6.2 3.2

# B 80 63.4 36.6 - -

5 103 80.1 19.4 - 0.6

B K 583 16.0 69.6 13.7 0.7

e = 27 - 42.0 57.3 0.7

B 2,830 63.0 31.0 5.6 0.4

HPhhtb R 4277 18.9 75.2 5.6 0.3

SVYATEF IT=! 255 75.6 225 1.4 0.6
B 2 HF -

HAZEH 5 F 119 93.0 46 2.4 -

35U0MY £E % 423 80.3 13.9 5.8 -

HEAN 2 F 542 88.1 11.6 0.3 -

EFI/V) m K 7 81.6 184 - -

g B 170 35 81.4 10.3 48

i 7 - 33.9 60.8 5.3

"= B 65 22.4 62.7 12.0 3.0

. 6 25 69.3 26.7 15

N E 255 10.4 73.3 12.2 4.1

EYEUETF E % 174 75.3 23.2 15 -

YOOEF E 14 63.2 15.8 21.0 -

[ 37 9.1 545 34.0 2.4

N E 51 243 43.6 30.4 1.7

W FE1285 W 63 97.4 26 - -

YIIHEF E E 181 65.3 26.6 7.2 0.9

FOFE5E 5 F 1 - - - 100.0

| 10 - - - 100.0

INE 10 - - - 100.0

pEHDL) ;B 2,832 4.2 77.2 17.8 0.8

LWL\ £585 E W 165 31.0 69.0 - -

Hi=1F5L ) 10,354 68.7 25.8 3.3 2.3

FEEHh S AEERARET 148,017 58.3 37.2 3.6 0.9

WREHE 153,993 57.4 36.6 3.7 2.3

E:1) SYOURDOBERTIHERNRA—HBLENMEENH S,
2) TONUFBEISH-RVED, T-1EEENTVEDETT,

3) MBREUECIIEMRBRMLUNDYELSTNS-OEMMBHRMETE—BLE,
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(3) ERERARX
(BAfL: b, %)

o - & & te &=

w B E R |\ RH Im T Tere]18 2% 3% [AEn

21l E & 511 9.7 51.6 345 2.8 0.2 1.2

MEBEZFDS = 2,293 - 1.2 93.9 3.1 1.4 0.4

MDFE M H 50 - - 48.3 51.7 - -

A)E68E a 103 - - 61.8 33.6 47 -

AJIIM A 90 - - 94.1 55 0.4 -

FE4R = = 12 - 16.3 47.0 - 36.7 -

£ [E 4 - 100.0 - - - -

N E 16 - 375 35.1 - 27.4 -

—FEiE # H 29 - - 100.0 - - -

Yl ;R 82 - - 71.1 25.0 3.9 -

WILZADE E E 29 - - 72.6 27.4 - -
BENE I B -

G W= 314 - - 60.9 27.1 11.9 0.0

FpE w2 42 - - 73.5 - 26.5 -
HE2965 2 # -
HFg297 5 2 # -

BDE E B 21 - - 80.1 6.9 13.0 -

BLUFEN = H 23 - - 61.4 1.8 36.7 -

T ET F E 2 - - 91.4 - - 8.6

X W 6 - - - - 100.0 -

2 1,619 - 10.1 63.0 5.8 8.1 13.0

L 5 113 - 54.1 32.3 10.4 30 0.1

F N 3 - - - - 100.0 -

= [ 16 - - 100.0 - - -

N 2 — - — 52.3 477 -

N B 1,761 - 12.8 61.0 6.1 8.2 12.0

T L85 2 W 454 - 0.8 99.0 0.1 0.1 -

N B HEHT 5 iR 60 - 1.9 54.4 34.8 8.9 -

HRER o= 61 - - 79.8 20.2 - -

(1T 34 - - 100.0 - - -

B 21 - - 83.0 13.7 33 -

N F 116 - - 86.4 13.0 0.6 -

R\ R E B 6 - - 33.8 66.2 - -

R F 2 A 7 - - - 100.0 - -

HDiE = = 163 - 22.1 63.7 13.7 0.4 -

HDE 5 iR 46 - - 25.3 59.2 15.5 -

%K L) 95 - - - 94.8 5.2 -

=1-L3< i & & 394 - 6.9 90.8 2.3 - -

& o 12 - - 86.6 6.6 - 6.8
HNDE AT -

ROE1S = B 9 - - 98.0 - 2.0 -

1B EIEF 7 & 49 - - 88.4 11.6 - -

FAHBED 5 F 331 - - 36.2 61.8 2.0 -

BEAMN 52 F 648 - - 97.5 25 - -

BDWLSIE R 39 - 9.1 90.9 - - -

XY= [T 3 - - 100.0 - - -

2 6 - - 100.0 - - -

s B 3 - - 100.0 - - -

= [ 17 - - - 100.0 - -

[N 10 - - 88.3 - 11.7 -

N 23 - - - 73.7 26.3 -

INE 61 - - 325 55.8 11.7 -

S DFE o H 197 - - 95.4 1.9 - 2.6

SDE = AN 271 - - 22.5 56.6 20.4 0.5

5 i # & 1,690 - 47 94.7 0.2 0.3 -

SRE B 243 - 22.6 23.0 51.0 33 -
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(BAfL: b2, %)

o n = & & ke &=
A E R |\ RH Im i Teres]18]2%5 3% [REn
EHER E % 277 - - 82.1 17.2 0.6 -
NLEEE B H 15 - - 459 541 - -
BOE R 716 - - 6.0 85.7 8.3 -
—WEFEL L B 24 - 97.6 - - 2.4 -
58 1 g5 74 - 11.3 411 30.2 17.5 -
R GRS oA 70 - - 93.9 2.8 3.4 -
% BE ;R 1,383 - 0.7 66.3 31.2 0.9 0.8
D FE E F 89 - - 100.0 - - -
R g & 18 - - 100.0 - - -
=k T2 6 - - 100.0 - - -
g B 653 - - 86.1 13.9 - -
*x W 80 - - 63.1 30.4 1.8 46
7R N 289 - 9.5 55.7 29.2 2.6 3.1
B 9 - - 476 - 52.4 -
m E 25 - - 41.7 - 58.3 -
F E 68 2.0 - 72.9 23.5 15 -
S 7,141 - 0.2 64.2 33.4 1.2 1.0
E W 2,947 - - 99.0 0.9 0.1 -
a 555 - - 90.0 6.4 3.2 0.3
g 1,731 - - 86.0 1.2 0.7 2.1
g B 12 - - 64.7 29.5 - 5.8
B | 21 - - 2.2 91.9 5.9 -
= = 36 - 42.2 274 17.8 12.7 -
WA 253 - - 27.2 35.1 255 12.2

X B -

E E 513 - - 344 52.9 11.9 0.9

M F; W 14 - - - 33.4 66.6
B W 77 - 6.6 30.4 63.0 - -
& 280 - - 29.4 46.8 19.9 3.9
WA 3 - - 59.8 27.2 - 13.0
N 43 - - 333 66.7 - -
N E 14,756 0.0 0.4 72.6 235 2.3 1.2
781345 B B 2 - - 56.8 43.2 - -
FAEDE [T 205 - - 30.1 39.8 10.9 19.2
EEHR g B 104 - - 50.5 39.0 10.5 -
SHANE ® =B 231 - - 90.3 9.7 - -
ShIFEN E ¥ 68 - - 100.0 - - -
EERE w2 125 - 6.8 78.0 - 15.2 -
SHEE B E 87 - - 12.4 73.6 10.4 3.6
HBEEMmMES B B 60 - - 32.8 52.7 145 -
IR E % 242 - - 78.0 19.9 22 -
LY <& T B 106 - - 21.0 75.1 39 -
=R & 2 [ 16 - - - 85.7 14.3 -
=Y NEST E % 138 - - 67.8 29.8 2.5 -
=E3] T E 11 - 22.0 78.0 - - -
FLUAFE1S T E 11 - 18.2 474 30.6 39 -
i B H 7 - - 86.3 - 13.7 -
k E 10 - - 100.0 - - -
BE K 12 - - - - 100.0 -
INE 28 - - 55.7 - 443 -
2E i & & 601 - 10.5 85.6 3.9 - -
N 5 B 139 - 57.9 34.9 1.9 5.3 -
f=htaig B 358 - - 78.7 21.2 0.1 -
£ % 13 - - 58.4 55 36.1 -
£ [E 4 - 100.0 - - - -
N E 375 - 1.0 77.2 20.5 1.3 -
BE®D g &E 22 - 83.8 - 12.0 4.2 -
BEDNEELF T2 29 - - 67.5 - 32,5 -
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(BAfL: b2, %)

n = & & ke &=

w R E R |\ RH Im T Tere]18 253 % [AEn

Ex [T 31 - - 81.3 18.7 - -
# B 231 - - 274 69.8 2.8 -

# 3w 8 - - - 36.5 63.5 -

g H 67 - - 30.7 474 21.9 -

N E 337 - - 32.3 59.8 7.8 -

HFEDELY = 5 - - - 15.2 61.2 23.6
ZEE = B 98 - - 88.6 2.8 8.6 -
H PR < T2 1,484 - 14.4 75.0 8.7 1.8 0.0
HPIDE w2 553 - 24.9 74.0 0.7 0.0 0.4
HEDE E E 5 - - 61.8 38.2 - -
T1kEE = AN 41 - - 33.7 62.4 3.9 -
LHEE14 S 29 - - 100.0 - - -
ENE = 38 - - 93.3 6.7 - -
2E o 4 - - - 100.0 - -
E%E1052 E W 2 - - - 100.0 - -
HER E & 5 - - 43.6 - 56.4 -
=Fig E E 314 - 10.5 85.0 45 - -
W 39 - - - 76.6 234 -

N E 353 - 9.4 75.5 12.5 2.6 -

I\ h B 380 - 92.3 6.1 0.2 0.5 1.0
I\RER15 B 5 1,809 - 82.7 8.1 0.2 1.1 7.8
I\RER25 E) 6 - - 100.0 - - -
L 7 & 230 - - 100.0 - - -
E3A R =G 5 - - - - 84.7 15.3
FEIPAH 7 & 8 - - 100.0 - - -
Ef e K 173 - 3.0 78.1 11.9 7.0 -
EWE ' A 971 - 7.7 87.7 46 - -
M = 14 - - - 100.0 - -

BB 48 - - 9.7 90.3 - -

INE 1,032 - 7.2 83.0 9.8 - -

(03 =2=% 5] *x W 147 - - 65.3 345 0.2 -
VIEIFEN g B 722 - 50.7 38.3 10.3 0.7 0.0
VESTH m K 55 - - 95.0 3.2 - 1.9
[TTR 183 - - 94.9 5.1 - -

£ 1,047 - 2.7 83.2 11.3 2.7 0.1

INE 1,284 - 2.2 85.4 10.1 2.2 0.1

BH # H 29 - - 100.0 - - -
EEIL R E E 211 - - 89.3 10.0 0.8 -
EERR E E 72 - 25.1 74.3 0.6 0.0 -
Hyogo Sake 85 E & 29 - - 39.0 61.0 - -
EER E & 37 - - 100.0 - - -
EEZH E E 183 - 10.8 37.8 50.7 0.7 -
V&Y R 3 - - - - 100.0 -
BHE B B 96 - - 93.0 6.4 0.6 -
291\ F E E 100 - - 65.1 335 14 -
woeE F E 59 - - 81.6 18.4 - -
Y E E 5 - 48.4 51.6 - - -
Bex g & 137 - 75 89.4 3.1 - -
125 R 59 - - 429 46.6 2.1 8.3
a N 9 - - 100.0 - - -

N 68 - - 50.8 40.2 1.8 7.2

EHhY o H 18 - - 96.8 - - 3.2
£= % [ 166 - 8.1 470 19.9 25.0 -
FR B 22 - - - 85.9 14.1 -
e | 256 - - 82.6 8.7 8.5 0.2
ESIIE T W 143 - - 36.2 56.9 6.9 -
M M| 1,589 - - 955 3.7 0.4 0.4

1T 573 - 1.4 93.7 43 0.2 0.4
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(BAfL: b2, %)

o s = & & ke F33
w R E R |\ RH Im T Tere]18 253 % [AEn
ELgg (0D%F) = B 199 - - 75.0 25.0 - -
% W 59 - - 85.1 12.2 2.7 -
m K 19 - - 735 248 - 1.7
E W 4 - - 100.0 - - -
o 9 - - 100.0 - - -
£ B 3,017 - - 92.8 6.4 0.8 -
N F 5,611 - 0.1 915 75 0.8 0.1
wiEHaE [T 85 - 18.7 68.5 5.6 7.2 -
B 5 12 - - 17.4 69.4 13.2 -
N F 96 - 16.4 62.3 13.3 8.0 -
LEER T W 46 - - 12.0 59.1 28.9 -
(1T 2 - - 100.0 - - -
B B 37 - - 715 28.1 - 05
*x W 67 - 135 50.2 20.8 15.5 -
7R N 957 0.4 13.2 76.6 5.8 40 -
i 1 - - - - 100.0 -
m E 28 - - 70.5 4.9 246 -
F OE 18 - - 9.7 37.2 31.6 215
&= 74 - - 77.4 2.2 19.8 0.7
ST 577 - - 48.9 33.4 11.3 6.4
E W 527 - - 98.4 1.6 - -
a 44 - - 445 53.8 1.7 -
= H# 148 - - 82.4 16.6 1.0 -
[TTR 26 5.6 46 36.9 14.1 375 1.3
£ % 21 - - 78.9 211 - -
B | 288 - - 69.8 22.2 8.0 -
Z A 8 - - 52.0 35.1 - 12.9
= = 275 0.8 54.1 26.8 14.2 4.1 -
#H =B 773 - 0.7 53.7 39.1 4.1 24
O 101 - 3.8 52.5 26.7 15.0 2.0
X R 23 - - - 20.4 78.4 1.2
E E 15,159 40 61.1 22.2 34 30 6.3
= B 99 - - 25.3 57.9 15.6 1.2
M F oW 20 - - - 22.4 77.6 -
E W 151 - - 57.1 22.9 20.0 -
E R 141 - - 20.1 52.3 27.6 -
2 2,050 - 0.1 66.4 9.0 18.4 6.0
L B 970 - 34 718 17.8 4.2 2.8
W A 1,388 2.1 5.7 420 17.7 26.9 5.6
"= B 429 - 715 9.2 6.8 12.2 0.3
EF N 25 - - - 83.7 16.3 -
T IE 12 - - - 69.4 30.6 -
= A 26 - - 12.4 41.3 46.3 -
= M 531 0.3 3.9 63.9 25.3 5.3 1.3
® = 229 - - 473 31.1 45 17.1
E K 60 - 36 10.7 72.7 5.8 7.1
BB XK 215 - - 57.2 27.0 6.9 8.8
X & 40 - - - 67.2 28.0 4.9
=g 17 - - - 6.2 93.8 -
B R B -
N BT 25,602 2.5 39.0 36.6 9.8 6.9 5.2
ILETE E E 101 - 92.3 7.7 - - -
HDE 5 F 105 - - 24.1 50.2 25.7
E L 1T 356 - 14.0 77.8 49 05 28
SHiE = & -
=1BE Z Al 114 - 6.7 422 49.9 0.3 0.9
e m K 123 - - 88.3 5.6 6.1
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(BAfL: b2, %)

% @ Eow | # % ki # =2 *
B E| B 1% | 2% | 3 % |RKs
21K w3 130 - - 90.9 8.3 0.8 -
S N 92 - - 100.0 - - -
I E 222 - - 94.7 49 0.5 -
Z2NE BB 943 - 1.5 90.9 75 0.1 -
ERE ® =) 16 - - 84.9 - 15.1 -
L 23 - - - 100.0 - -
I B 39 - - 35.3 58.4 6.3 -
=K x W 3 - - 81.3 18.8 - -
BB 22 - - 100.0 - - -
= 24 - 1.6 62.3 24.9 11.2 -
Z 177 - - 75.5 22.4 2.1 -
N 16 - 15.3 447 27.7 12.3 -
B 242 - 1.2 74.4 21.0 35 -
Efa x W 46 - - 95.0 5.0 - -
E2E E E 48 - 458 47.0 7.2 - -
FEEHh ShEERARET 74,165 0.9 18.9 59.3 14.2 40 2.7
WREH=E 75,399 0.9 18.6 58.6 14.5 45 2.9

F:) SVUFDOBRTHERRA—BLEWGEELHS,
2) TOJFBALIZHE VB0, [-I[FERNBVLDETRT,
3) MBREHRECITEMFBERMLUNORELEFTNO-OEMMERMETE—BLALY,
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